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1. Determine la derivada de la función

h(x) =
arc sen(x)

x2 + 3x

Solución:

h′(x) =
(arc sen(x))′(x2 + 3x)− arc sen(x)(x2 + 3x)′

(x2 + 3x)2

2 puntos.

=

1√
1−x2

(x2 + 3x)− arc sen(x)(2x + 3)

(x2 + 3x)2

2 puntos.

=
(x2 + 3x)− arc sen(x)(2x + 3)

√
1− x2√

1− x2(x2 + 3x)2

2 puntos.

2. Sea f(x) = xg(x2) + 1. Determine f ′(1) si se sabe que g(1) = 0 y
g′(1) = 2.

Solución:

Notemos que si f(x) = xg(x2) + 1 entonces

f ′(x) = g(x2) + xg′(x2)2x

3 puntos.

Como g(1) = 0 y g′(1) = 2, se tiene que

f ′(1) = g(1) + g′(1)2 = 0 + 2 · 2 = 4

3 puntos.
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